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1. A $1.00 increase in the price of a restaurant meal results in a drop in quantity demanded of 5 meals. Which of the following
statements is correct? .
a. The slope of the demand curve is -1/5; there is insufficient information to determine the price elasticity of demand.
b. The price elasticity of demand is -1/5; there is insufficient information to determine the slope of the demand curve
¢. Both the slope of the demand curve dnd the price elasticity of demand are equal to -1/5.
d. There is insufficient information to determine either the slope of the demand curve or the price elasticity of demand.
e. The slope of the demand curve is -1/5; the price elasticity of demand is 5. .
2. If demand is price inelastic,
a. price and total revenue change in opposnc directions
a seller should decrease the price to increase total revenue
too few goods are being produced from society's point of view
price and total revenue change in the same direction
the market can never be in equilibrium
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3. For a given supply curve, the more inelastic the demand for a good,
a. the more of an excise tax that is paid by sellers.
b. the more of an excise tax that is paid by buyers.
c. the smaller the burden of an excise tax.
d. the less an excise tax is shifted.
e. the smaller the increase in market price following imposition of an excise tax

4. Sunk costs should be ignored in decision making because they
a. increase the cost of the transaction
lead to an increase in the opportunity cost of any decision
are opportunity costs
often exceed marginal and average costs
are usually negligible when compared with the explicit costs of decisions
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5. For a given level of output, the short-run total cost of production
always falls below the long-run total cost of production
always exceeds the long-run total cost of production

always equals the long-run total cost of production

may exceed or equal the long-run total cost of production
may exceed or fall below the long-run total cost of production
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6. Many gift shops along the ocean shut down during the winter because
a. revenues cannot cover fixed costs

marginal revenue does not equal marginal cost

costs are minimized by shutting down

revenues are maximized by shutting down

revenues cannot cover variable costs

oo o

7. Teddy's Bear Shop operates in a perfectly competitive market where the prevailing price is $15. Teddy's marginal cost curve
crosses his average total cost curve at $20. The marginal cost curve crosses his average variable cost curve at §17. In the short run,
Teddy's Bear Shop

should operate at a higher output level where it can suffer less of an economic loss

will suffer an economic loss, but should continue to operate at the minimum of its average variable costs

will just break even, with neither a profit nor a loss, and should operate

will suffer an economic loss and should shut down

should operate at a lower output level where it can suffer less of an economic loss

A0 o

8. Suppose that a non-discriminating monopolist lowers its price from $75 to $70 in order to sell more output, Margmal revenue will
a. equal $75

equal $70

be less than $70

be between $75 and $70 AR B HTEPR

be greater than $75
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9. Assume that an inferior good is produced in a perfectly competitive, increasing-cost industry with external diseconomies. The market is
initially in long-run equilibrium. After all long-run adjustments are made, which of the following would occur in this market as a result
of an increase in consumers' incomes?

10.

11

12.

13.

14.

1

16.
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a,
b.
c.
d
e

The market price would remain unchanged; the market quantity would rise.
The market price would rise; the market quantity would fall.

The market price would remain unchanged; the market quantity would fall.
Both the market price and the market quantity would fall,

Both the market price and the market quantity would rise.

In the long run, monopolistically competitive firms earn zero economic profits because

PR o

each firm produces a small share of total market output

each firm produces a standardized product

firms do not equate marginal cost and marginal revenue in the long run
there is only one seller in the market

entry of new firms eliminate profits

The prisoner's dilemma demonstrates that

a.

® o o

breaking out of prison may be too costly for most prisoners

the opportunity cost of being a prisoner is indeterminate

the dominant strategies followed by two prisoners may lead to disequilibrium that is unpredictable

the weak strategy may be followed by both prisoners if the opportunity cost is low

the dominant strategies followed by two players may lead to an equilibrium that is less not optimal for both players together

A Pareto improvement is

a.
b.
¢
d. .
e. the typical outcome of government action . .

an action in which the gains to the gainers outweigh the losses to the losers
any action that does not harm a third party

an action that makes at least one person better off, and no one worse off
any action that involves a side payment to a third party

The welfare loss due to a price floor

a.
b.
c.
d.
e. is a Pareto improvement

.

is caused by a decrease in quantity
is the dollar difference between producer surplus and consumer swrplus

is measured as the area above the market price and below the demand curve
is measured as the area above both the market price and the supply curve

According to the Coase theorem,

a.

o oo o

govemnment intervention is necessary in order to solve an externality problem

an externality is a form of market failure -
under certain conditions, the private market will solve externality problems efficiently

the private market will usually solve externality problems, except when side payments are necessary
negative externalities are less efficient that positive externalities

- For each watch Denmark produces, it gives up the opportunity to produce 50 pounds of cheese. France can produce two

walches at a cost of 150 pounds of cheese. Which of the following is true?

Panos

Denmark has a comparative advantage in producing both watches and cheese.
France has a comparative advantage in producing both watches and cheese,
France has the comparative advantage in producing watches.

Denmark has the comparative advantage in producing watches.

Denmark has the comparative advantage in producing cheese,

If a firm bakes cookies and sells them for $1,000 while spending $100 on sugar, $150 on chocolate, $50 on other supplies,
$300 on wages and $400 on rent, what is its value added?

a0 om

$300
$0
$700

S0 BEEE g5

$400
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17. A decrease in the government's budget deficit will
a. increase the supply of loanable funds, lower the interest rate, and increase investment spending
reduce the supply of loanable funds, raise the interest rate, and reduce investment
. increase the demand for loanable funds, raise the interest rate, and reduce investment spending
reduce the demand for loanable funds, lower the interest rate, and increase investment spending
increase the supply of loanable funds, reduce the demand for loanable funds, leave the interest rate unchanged, and
increase investment spending .
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18. If the required reserve ratio is 20 percent, banks loan out all excess reserves, people hold no currency, and the Fed sells $5,000
worth of bonds to banks, what is the ultimate impact on the money supply?
‘The money supply will increase by $25,000.
The money supply will decrease by $25,000. ;
The money supply will increase by $5,000.
The money supply will decrease by $5,000.
The money supply will not change.
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19. Which of the following policies would most likely increase the money supply?
a. selling government bonds

raising the discount rate

lowering tax rates L

lowering the required reserve ritio- J

decreasing the prime lending rate
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20. If everyone expects the interest rate to rise in the future, which of the following will occur now?
Money demand will increase, the interest rate will fall, and bond prices will rise.
Money demand will decrease, the interest rate will fall, and bond prices will fall.
Money demand will increase, the interest rate will rise, and bond prices will fall,
Money demand will decrease, the interest rate will fall, and bond prices will rise.
Money demand will decrease, the interest rate will rise, and bond prices will rise.
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21. If the Fed conducts an open market purchase of bonds, which of the following will happen?
a. The interest rate will decrease, the aggregate expenditure line will shift upward, and the aggregate demand curve will shift leftward.
b. The interest rate will increase, the aggregate expenditure line will shift upward, and the aggregate demand curve will shift rightward,
¢. The interest rate will decrease, the aggregate expenditure line will shift upward, and the aggregate demand curve will shift rightward,
d. The interest rate will decrease, the aggregate expenditure line will shift downward, and the aggregate demand curve will shift
rightward.
e. The interest rate will increase, the aggregate expenditure line will shift downward, and the aggregate demand curve will shift leftward.
22. If Congress voted to eliminate the minimum wage, which of the following would most likely occur? '
a. decrease in unit costs and an upward shift of the aggregate supply curve N
decrease in unit costs and an upward movement along the aggregate supply curve R
decrease in unit costs and a downward shift of the aggregate supply curve
increase in unit costs and an upward shift of the aggregate supply curve
increase in unit costs and an upward movement along the aggregate supply curve
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23. If government spending increases, which of the following would be most likely in the short and in the long run? (Both comparisons are
with regard to the original price level/output combination.) :

short-tun increases in the price level, no change in output; long-run increases in output and in the price level

short-run increases in output and in the price level; long-run increase in output, decrease in the price level

short-run decreases in output and in the price level; long-run increase in the price level, no change in output

short-rup increases in output and in the price level; long-run increase in the price level, no change in output

short-run decreases in output and in the price level; long-run decreases in output and in the price level
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24. Which of the following can lead to stagflation?
a decrease in the money supply

. bad weather
a decrease in autonomous consumption

an increase in government spending #i{ﬂ ﬁ] ﬁ EPETII

a decrease in oil prices -

a0 o
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25. Suppose that money demand increases. If the Fed wants to offset the shock, it will use
active monetary policy, decreasing the money supply and increasing the interest rate
active monetary policy, increasing the money supply and decreasing the interest rate
active monetary policy, leaving the money supply and the interest rate constant
passive monetary policy, decreasing'the money supply and increasing the interest rate
passive monetary policy, leaving the money supply and the interest rate constant

o0 o

26. To stabilize real GDP, the Fed must increase the money supply in response to a
positive demand shock

low level of unemployment

sudden upsurge in inflation

rise in the interest rate

negative demand shock

oo op

27. Under a Taylor rule, if inflation began to rise above the target rate,
a. the Fed would increase the money supply '
b. the Fed would lower short-term interest rates
c. the Fed would undertake an open market purchase of bonds
d. Congress could set a new target rate for the Fed

e

. the Fed would raise its interest rate target by a predetermined amount

28. Countercyclical fiscal policy refersto -
any fiscal policy that cycles between budget surpluses and budget deficits

any fiscal policy that is employed during a business cycle

P oo

the use of changes in tax rates 1o keep the economy at potential output in the long run

. the use of taxes and government spending to keep the economy close to potential GDP in the short run

the use of open market purchases of bonds to keep the economy close to potential GDP in the short un

29. Suppose the same basket of £00ds costs $200 in the U.S. and 100 pounds in Britain and that the exchange rate is $3 per pound,
According to purchasing power parity, if the two countries’ price levels do not change, what will happen to exchange rate?

The pound would appreciate unti] the exchange rate reaches $3 per pound,
The pound would depreciate until the exchange rate reaches $2 per pound,
The pound would depreciate unti] the exchange rate reaches $0.50 per pound.
The dollar price of a pound would remain at $10,

The pound would appreciate unti] the exchange rate reaches $4 per pound,

R0 o

30. If there is an excess supply of the domestic currency at a fixed exchange rate,

the central bank must buy up that excess supply or the exchange rate will fall
the central bank must be up that excess supply or the exchange rate will rise
the country must switch to a floating exchange rate

the currency will undergo a devaluation

the currency will appreciate .
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